Name: Subtract 50

73 -0 =_ 72 -50 = 62 -5B0 =___
81 -50 =_ 89 -50 =__ 83 -50-=___
9 -50=__ 76 -50 =_ 72 -50 =__
80 -50 =__ 94 -50 =__ 64 -50 =___
61 -50 =_ 91 -50 =_ 72 -B0 =__
0 -50=_ 89 -50=__ 88 -H0=__
62 - 50 = 78 -50 =

Working Mathematically

1) 50 out of 95 like sausages. How many do not /

like sausages ?

2) 94 butterflies were hatched at the zoo. 50 4 @O
butterflies escaped. How many lef1?

3) 50 of 67 tennis racquets were sold. How many

were not sold?

4) T used 50 out of 88 blocks to build a tower.
How many blocks were left over?
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